What is the midpoint of a line that has
endpoints at (0, 3) and (6, -1)?

(2 22):3,1)

D.(3,2)

If X is the midpoint of (/N and
CX =2n- 10, what is CN?

A. n-5
m
(B. m-20) € I n

C. 4n

D. 40

What are the measures of two fupplementary angles

if the difference of their measuresis  8° ?

G4- €68

BX bviseets LABC .1 /ABX =30° ,whatis /ABC ?
A. 15°

B. 30°




Which of triangle measurements below is a right triangle?
K 2,47 2T44*77T
8,10 G2+t =0 =
11,12,13 1%+ 12° =03 ©
B 12,14,16 2"+ 147 =16%

If you walk 35 miles due North and then
48 miles due West, rounded to the nearest mile
how far are you from your starting point?

4e 267448 =™
as (=59

Consider the statement “If you are nice, you have a lot of friends.”

yes/Se
If you have a lot of friends, then you are nice is the of above. .
y y J— ) of ,Q- ,“,f‘
If you are not nice, you don’t have a lot of friends is the ¢ ™ of above ,f’
—_— o
[N

&4
If you don’t have a lot of friends, then you are not nice is the & of above.

If AB— NP =BC — NP, then AB = BC demonstrates what property?
WP +n

AB- 32 Addtiin

¥ 1+ /2=9%0ad /2= /5+ J6then L1+ S5+ L/ 6=9.

/1 4+42=90
<2 5+, 6f

£\ HorL 6] A0

If AB 4BC = XY"'BC, then AB = XY demonstrates what property?
Bl -l

Subst. evtien

S L btf < Qio'oa\



In my class, everyone plays either golf or tennis.
14 play golf and 8 play tennis.
If 3 play both tennis and golf, how many kids are in my class?

Cp T Totel
5o)- i
'y <

There are 14 kids in band and 16 in chorus. eye an€
If 4 of these kids are in both chorus eV ¢

and band, how many total kids are in ‘Either'band or chorus?

2
Totel|

e : b

14 \ b
Give the equation in slope intercept form
that goes through (2, 7) and has a slope of 4.

\/- y.- M(X")(.)

y - 7=Y(x-2)
¥,h =908
Y~ ox-1

What would be the slope of the line
that 1s perpendicular to y = 5x + 4?

S

[



If AABC isanisosceles triangle with
AB = BC, which statement must be true?

A LC=/B C-
B, 4A /B //q\

_
D. _

=LA

Which of the following does not prove congruency?

D. All prove congruency

What does the symbol ~ ~ mean?
fonglfuen ey

Which of the measurements below could

be the mea ents of a triangle?
K 3,49 LY0
B 2,810 & (e

C23,7,9 4 ¥ 10

D. 6,8, 16

What is the distance from (1, 5) to (7, 6)?
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